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Solution Sheet
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6.
y=22° — 2073
d 2
é =2 x 32571 —2x (—3) zmil
= 622 + éx_%
B 3
7.
flz)=3x"2 45271 —4
fl(x) =3 x (=2)z7 27t — 57171
= 6272 — bz~ ?
8.
y=6x_2—2x%
d
Y _6x (—2)z 271 -2 x Zgs!
dz
2
=-12073 - Zz73
x Sx
9.
1 3
Yy =22+ 3x2
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10.

11.
f(z) =422 — 2z
3
fl(x) =4x 530%71 -2
= 627 —2
12.
f(z) =223 —52% +4
fl@)=2x(=3)z 31 =5 x 32371
= —6z~" — 1527
13.
Yy = 225 — 222
d 2
ﬁ =2 Zaf T — 2 x 227!
4 1
|
3% x
14.
y =6z + 222 — 5
dy 1 1_9q
= _64+92x%x =
dx e 2""
=06 + m_%
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15.

y:4x%f4x%
dy 2 2.4 19
— =4 X -x3 " —4Xx -x?
dx ><3x3 2:5
8 1 1
= 73 —9x73
390 x
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